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Solution Stoichiometry; Titrations

4.65 What mass of NaCl is needed to precipitate all the silver

ions from 20.0 mL of 0.100 M AgNO; solution?

4.66 What mass of NaOH is needed to precipitate all the Fe?*
ions from 25.0 mL of 0.500 M Fe(NO3), solution?
(a) What volume of 0.115 M HCIO, solution is needed to
neutralize 50.00 mL of 0.0875 M NaOH? (b) What vol-
ume of 0.128 M HCl is needed to i
Mg(OH),? () If 25.8 of
itate all the CI” ions in
AgCl), what is the
453 mL of 0.108
a solution of KOH,
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4.69 Some sulfuric acid is spilled on a lab bench. It can be neu-
tralized by sprinkling sodium bicarbonate on it and then
mopping up the resultant solution. The sodium bicar-
bonate reacts with sulfuric acid as follows:

2NaHCOj(s) + H,S04(aq) —>

NaSOy4(aq) + 2H,0(1) + 2C0Oy(g)
Sodium bicarbonate is added until the fizzing due to the
formation of CO,(g) stops. If 27 mL of 6.0 M H,SO, was

spilled, what is the minimum mass of NaHCO; that must
be added to the spill to neutralize the acid?
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4.73 A solution of 100.0 mL of 0.200 M KOH is mixed with 5
solution of 200.0 mL of 0.150 M NiSOy. (a) Write the bal-
anced chemical equation for the reaction that occurs,
(b) What precipitate forms? (c) What is the limiting reac-
tant? (d) How many grams of this precipitate form?

(e) What is the concentration of each ion that remains in
solution?





